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1-2
4-3
et
10 -2
13-2
16-4
192
22-4
25-2
28-3

31-1
34 - All Correct *
37-1

40-2

Part 1 : Answer for MCQs

2-1
5-1

8-4

11-1
14-2
17 -4
20-3
23-3
262
29-2

32-4
35 - All Correct *

38-4

S
6-3
Q-3
124
353
18 =2
21-1
24-1
27-4
30-3

33-2
36-2

39-4 (T,E) /4,2 (S) ** see below

Notes:

#*MCQS 34/ 35 => All Correct due to Tamil Version Error

**MCQ 39 option 4 correct for English and Tamil versions . For Sinhala version option 2 and 4

both are correct.
e¢®E ¥ @G8 Bhisn ey BOCE BERJ 4. BowE Sl 3¢ 4 @y 2 HBOICE 8.

paper 2 :

ec®g ®lnen s08bnm ecle Hen Bug cdnd BOGE eces B1es.

please use the English version as the correct model answer . For Sinhala and Tamil mediums

please check the English version for any clarifications

8o @y g8 cPFod Oc u® s1ER BBeE adanrs 80 »01md .88 @dne o

006 ACTD. @88 @1n 8 cPnde B0 ece LBCRTID.



43487

OL/2013/80-S-1, I

[Bog © OBa® a0 / apapy uguydauijous / All Righss Reserved]

%:m Beoa xobm%imm T5i0 oL
AT LAt e

e
%nmmu Ll e & daenih  (@nrasd

7]
artoent of Fnim%mations Sri Lanka D
ol Bens od i

-

qOBeD 601L COBD og (Herms oSe) Ecmcnca, 2013 @cmzﬁaés

sl QuTgs sTnsrl Usdy (Fngnoess ST uilems, 2013 g @&y
General Certificate of Education (Ord. Level) Exammatmn, December 2013

N

SRS oufeden mneenc I, I
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7nformaﬁ0n & Communﬁ:a on Technology I I

GO 0 S8edcn mmedd II

* D@ gudvne w0 20 Hun wood §od gun sund sO BEnd; suosim.
* 2efOm yEmed e 20 @88 Bug © g wewn oneg 105857 ¢ 88 &,

1.

®

(ii)

(i)

(iv)

swom A 80 E D) edde =6 g8 émafﬁ-mq qoos ¢ osin ocws? oisin. 88 B8y e woles

e eddaa Buo OB oms, gummd wews B8O 208k, '

A- 801 opzg® dmeses (CPU) w0 daw @mee (main memory) sBoesmen 0D 806008 (motherboard)
880 gym.

B - s8oain m@eciun’ oy (computer program) o® mobices m6@RR0 olnGmed & coegs
Gocrf.

C - sBoemmend o@D 848 mey® o5d ne 50 ¢ Humed B3 ¢n &5 «b.

D - sBogmon Smn D80 55888 sloenmed mitio o (performance) 6,5 8500 m@ommsf
oy D,

E- 20 u08m wmontwens (liquid crystal technology) sBoGn 83 ;8@ ecagm mB:m me 5 .

som A Dped qzlﬁ & & ¢8® B Bged g8 4802 wbe ngaw ;B o. @dedd 8890 spud L8
0 &80 yoc 48 eddc ewoy gws! ndEm.

A 049 B 8gB

P- g0 dombcd i ofoguesicd gy Bef emods
©» (unguided media) e®.

Q-coim oBeguin tgwd R BB Wwdn wid.
R-dust 68n 6O vogm, dmpsd 08 end; 809G

I - gedordm Sde (infrared)
T.wipe »C-o (microwaves)
K - yeoe maiy (optical fibre)

L - y@creg =38 goc(iwisted pair) © w0 digsd 68 @8 wqro 0bn =08
S-Bet 80 ne edn giecdn oo qzsim wBegpeic
g0y 0ol 268,
oo ASO E ¢alos eddc 26 ¢ff o¢/Oomy deiD acmzin,
A -Bepet wpend B8ma B - IP &8»xs
C - Sa®@bBa (pretocel) D-c08 ¢80xlnd (web browser)

E-c0d 8ge

eum eddc 6 §8 808 wem BH6E cewdens oon @ Btinedr enddheon Buslhn. 82 B8 ne
golers! sddEe v 84E cendeio BO@ oo

Eulcind: [phnaz.anand@yahoo.cmm Internet Explorer, Ik, myinfo.html, 192.168.1.2, google, http, www]

soin 5B 588dn o 30 qee cmsmy DR oEm ® @ ® @ edac wows ge 88 gowyd

8w fOnim.
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e =1 1R 1=11 )
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(v) 10101010 w2 €88 £3:8m0, ¢@®w e-Em0nd oldbnzis =Guim.
(vi) ASCIHl 5 ouln mdun G8» 30f« B (widsin.
(vii) A-Eoce eddc =6 g son cnp® (devices) nemsis.

(viii) Oty B389 eqpn® ®agmoemwzs (image editing software) e@ac@ Bde von icd 88 A-E eceo

(ix) =won q:sfoom mﬂﬁmw 80 e omm o & dul e®wed ¢B SwIEWD axiBed gfoled coes®

- end

(x)_mozsa edead @—@ edacOED B4 Srgmoe o § & 8ednedst emdSy Bozim.

A - 86; et Swdmee (barcode reader) B - oo o &am (CD writer)

C - 86 (monitor) D -@8me (mouse)

E- ggﬁﬁw’mw {scanner)

pom ond O coree g, B84 ond e g&e,m sem® 8 me S cug@c.m! ¢8 eewst =dzin.
28 B8z me guer! ed@dow Bwo OHud e 88nd o0 £088.

eddc BS B PO:BOBH g wB & Guwo ¢Ebzm.

20@oTD GO DEEmG 20 Bcbens S600 wbn ne WS DY exfnel. 8@ - sdoc o gen
BOesw 508, & gt o Budncds endd Bedlm. ed@cy 00 5@ HOEy 08w oSen 888 wew N
Eocne vrifed §0 efs omm weawo ¢ HBOese o M ePoed ¢ Lemo ¢ Gwig Oim &b
comcdome mosim.

@Bdn®: [avg, H, N, total]

begin

total=0 =

input N ®

for (counter= 1 to —— )
input
total= total+H

next counter

avg= ...._©__...f N

output

2011 0 2012 Decddc Obmtmm oo twen o@u Syemes Qonds dmees! eded. 2011 »o 2012
OedOHE_8nfm Dimomms g Redx sOH& gD eotm emacsimn Bzl By 98 ¢Fn ewmowy B9
................ = 0olm =B, grivg Bp 09 e ..o O goemes =6 eBBe pudmod scmn! @k
g ¢ duel B Dlsisnnesl ¢ oammne Bo8. guiny @ 2 000D ez 2011 00 2012 Dedde
Dotz GO0 eseseBrt DalimoDes tamesB. B8 ©0wIBS ¢y ... ... I 000 om0 By O BEiBedy
ensiod, )

SEI®: [coim ©@es (database), w@bom Dagmosws (presentation), eef® wzine (search engine),

o6 @so (spreadsheet), coendBmo Gagmo-oa (utility software), O¢z3 eegg® @agmreow (word pmcessor}}J

3 {q00m Bg0 Denm



(i)

A-T e [ T [ an®
BT  9fmas
C-F 3 3l
DT ayrar
E-T g
I-R
J-P
K-S
L-Q
(iii)
A —phitaz.angand@yahoo.com &~
B-192.168.1.2
C—http

D —Internet Explorer

[1 correct =>%, 2 correct =>1 mark, 3 correct => 1.5, 4,5 correct=> 2 marks,

total 2 marks]

[each correct %2 mark, Total 2 marks]

CaSe teonge e

E--% Q«L - & )

I GASIEC CN i W N

E —~myinfo.html

&G\ VB>

AYs QWED oA O

[1correct =>%, 2 correct =>1 marks, 3 correct => 1.5, 4,5 correct=> 2 marks,

P=0, Q=1, R=0, S=0; i, T Sy

101010

10 is equivalent to decimal 170

ool gq

total 2 marks]

[each correct ¥ mark, Total 2 marks]

[1 for steps, 1 for final answer. Total 2 marks]

e
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(vi)

Computers understand only binary numbers( or bit sequences or bit patterns). To the computer
to understand all characters which include alphabetic and other non-numeric characters, the
relevant characters must be mapped to numbers. / International codes such as ASCI| are used to
map input to binary numbers( or bit sequences or bit patterns./ Encoding schemes are used to
map the symbols of our spoken, mathematical, and graphical languages into numerical codes(or
bit patterns/bit sequences). Fach of these schemes defines 3 one-to-one mapping between a
svmbol and a number(or bit patterns or bit sequences)/ to enables multiple computing systems
to communicate with each other by standardizing the coding of letters, numbers and

punciuation,

2Boeinssd edai®on nierd (BOs wo@n (e9d ©@x o) caH. SORas Boge® am

cwed (oeun®. andy Beds wmwentm @@n) ofoeimomtd exc@om 08 =8P JBes

©@10530 apciveas m¢ gae. ASCll 918 SHovsns ese O o ag B38. / as %

DI 080T, o M weowm, (S8@ g BO0 WTBED ASCH 58 ortomces ©=Send
08 208, @@ ©lmdS BEenens »C gter’ eemm g gl g - I
7

§P0mOeu @B GImICOE.

[No partial marks, 2 marks]

(vii}
A, D, E = input device
FICL CLPE
&) =input and output

[1 correct =>); , 2 correct =>1 marks, 3 correct => 1.5, 4,5 correct=> 2 marks,
total 2 marks]

{viii)
A =rectangular marque tool/rectangular selection. [ Se Lsad fivsn

. . 1,
( @@OE0) aiermiesntgis Bund euide @wnd P~ ool e iy e

[Fy]

B =Cropping/selecting unnecessary parts of region of an image

i 2%

Bxindem 418 9m0as e20e @dnd, 0ns emde @ emid ©(5e.



C= Magic Wand, selecting areas of similar color/ selects all pixels or a like color that are
touching the pixel, [Quice  seleefion =l

e85 Db a8 gedn euite / S8rd B8Fwucwmd goc b a8 ki Bucce®
eS8, | ~apaEn nv&%?_-,') .
D=Etraser/erasing, ®3®

E=Paint Bucket/fills an area of an image based on color similarity of selected area / The
Paint Bucket tool fills adjacent pixels that are similar in color value to the pixels you click.
Buigdun emitios emdes eof o8y Boigie @n Suin qi3te J{emicion

Bxfeced g0 Bodn o fe,

[1 correct =>¥, 2 correct =>1 marks, 3 correct => 1.5, 4,5 correct=> 2 marks,
total 2 marks]

Mok s Case SowsSitive

A-N
B-H
C - total

- avg
[each correct ¥ mark,. No marks deducted for differences in lower case/upper case of
variable names, Total 2 marks]

el Sramars & O I

A- Search engine eeg® wiime

R. Qnrn:\d cheot PC\-H‘\/{‘u.ﬁ\fjm

C- Word Processor £¢z3 o(me3® ®agmie®d
™ R -

ion w&loes @qawﬁuww
{each correci ¥ mark, Total 2 marksj

4 [Total 20 marksj



Q2

R. The following spreadsheet segment shows a bill for the items purchased by Akila from a stationary shop:

d A B e D E

1 i i

2 e Unit Price | Quantity Value

3 Blue Pen 15 2 30,
4 HB Pencil 10 3 30

5 Eraser 5 2 10

6 40 page exercise book 25 5 125
3, File cover 50 0 0]
8 _ [Book covers 20 5 100}
9 Total ' _ 295
10

(i) Write the correct formula that can be used in cell E3 to calculate the value of Blue Pens purchased,
(ii) The following shows the steps that are reQuired to copy the formula entered into cell E3 to cells B4 to ES:
Move the cellpointer to cell i A -
Move the mouse pointer to bottom corner of the cell till shape of the pointer changes to + symbol.

While pressing left mouse button drag the pointer to cell address ..\=/.. .
Write down the correct terms for lnbela@,and©. : -
(iif) Write the single spreadsheet function that can be used in cell E9 to calculate total value of the bill.

(iv) Write the function to find out the most expensive item based on the unit price given in column C of
the spreadsheet. ‘ : :
(v) Akila purchased two file covers. However, by a mistake the quantity was entered into cell D7 as O as
shown in the above spreadsheet. Write the addresses of the cells in which values would be automatically
. updated if the correct quantity is entered into cell D7,

L

=(C3*D3 or+ C3*D3
_ [2 marks]
i, A-E3, B-right, C~-E8
[ 1 correct =>1 mark, 2 correct =>1 %, all 3 correct =>2 marks, total 2 marks]
i, = sum(E3:E8) or + sum(E3:E8)
[2 marks]

iV, max
[2 marks]

v, E7 and E9 :
[1 mark each — 2 marks]

[Total 10 marks]



Q3

3. The school canteen sells a number of food items supplied by several suppliers, The canteen maintains a database
with three tables (o store the food items currently in stock, their suppliers and items purchased from the suppliers,
as shown below, ' :

~ ItemID| IName Stock SuppID| SName | Phone Date [SupplD | TtemID T Count
1001 |fish buns | 15 S001 |Saman 0334449226 | |21/8/13)S001 1003 |25
1002 [tea buns | 16 5002 | Meena |0221180151 | |15/9/13{S003 | 1003 |25
1003 | rolls 13 S003 | Niyasz [0115707600 | | 15/9/138002 | 1001 |30
1004 | patties 11 S004 |John |0112908800 | |[15/9/13S004 | 1002 |25
1005 | fruit drinks| 19 : ‘ 16/9/138003 | 1004 |25
Supplier Table 16/9/131S001 | 1005 | 50

Food Ttem Table
. Purchase Table

(i) List two primary keys with the corresponding table names.
(ii) A student goes to the canteen and buys one fish bun and a fruit drink bottle.
(a) What table(s) need(s) updating? '
- (b) Write down the relevant updated record(s). _
(iii) The canteen decided to add cutlets as a new item and purchased 25 of them from the supplier Meena
(SuppID: S002) on the date 20/9/13, |
(a) What tables need updating?
(b) Write down new records that have to be added to relevant tables.

() o
Food Item Table ewad ¢®x 8@L |, ItemlID ok o Case SonShive ..@J_
oilavaded < 4

Supplier Table, eg®nodded 59o SupplD: < Povsr s
3l —g etk be Corveuk
[for correct field and table name combinations 1 mark each(1x2). No marks for incorrect

fieldnames. No marks deducted for differences in lower case/upper case of field names
=total 2 marks]

Food Item Table
[ If invalid additional tables no marks, total 2 marks]

1001 fish buns 14 PR ARV
1005 fruitdrinks 18 « @l &
[All field values has to be correct. If invalid additional records given no marksawarded. No

marks deducted for differences in lower case/upper case of IName field values, 1 each,
total 2 marks]



Food Iltem Table, Purchase Table
exd gD, 8ed ©if® Dyd
[1 each . 2 marks]

Food Item Table add the following record
2903 DQY0 B eJEING aREs DIBIH

1006 Cutlets 25

Purchase Table add the following record
BEEmBE 090 vom wews’ edeniiic areEs BIsH
20/09/13  S002 1006 25 B oS . DR upe® Pt
[ Table names not compulsory, Item ID has to be Unique. Other field values have to be correct,
1 x2 marks, 2 marks]



Q4.

(i) Consider the following statements labelled from A to G :

A - The first page that is displayed when a Web site is accessed is called a ....... N

B - .vveerseree...dre used fo link web pages.

C = woovvvevereae containing frames, tables etc. could be used to develop web pages.

D - A collection of web pages relating to a topic is generally called a

E - Software that are used to design, create and publish web sites are called ......... TP TP
B eTA i vvevevei..can be used to view a web page created in HTML.

G - The ..coovevnnnns ... instruct the web browser on how to display a webpage. ‘

Find the most appropriate term to fill the blank of each statement using the list given below. You are|’
only required to write down the label and the correct term.

List: [Authoring Tools, Home Page, Hyper Links, Markup Tags, Templates, Web Browser, Web Server,

Web Site]

(i) Consider the html source code and its corresponding output below. The source code has several missing
tags indicated by(D to(3. Select the correct tags from list given below. You are only required to write

down the label and the comresponding HTML tag.
" List: [B, BR, H1, H2, H3, HEAD, HREF, IMG,

LI, OL, P, TITLE, UL] !

Source Code Onutput
<HTML>
<HEAD>
< TITLE > Information and Communication Technology</ TITLE >
<HEAD>
<BODY>

- «(D)> Introduction to Flow Charts <(2)> and Pseudo Codes <«/@>| Introduction to Flow Charts
<P> Flow Chart is a graphical representation of an algorithm. </P> | and Pseu do Codes
<H2> Flowchart Symbols </H2>
<P> A set of standard symbols is used to draw flow charts, </P>
<OL TYPE=1 START =1>
<Ll> < (3)>Terminator</()> indicates the Start
<ER> and the Stop of the algorithm.

Flow Chnrl:li; u graphical representation of an algorithm,
Flowchart Symbols
A sot of standard symbols Is used to draw flow charts.

L. Terminator Indicates the Start

<Li> <(3) >Process</(3)> represents 3 command or a bbb iy
sequence of commands. 2. Process reprasents a ¢ dera of d
<L <@>I!O</®> represents data Input/Output. i ﬁ?;‘i""’ i
<> <@»Decisons</ Q. § G e e R
<LI> <(3) >Connectors</(F)> are used to connect points
in flow chart. Pseudo codes
<Li> <()-Flow Lines</()> show the direction of data flow.] Pyaut ooda I High-devel descriotion of an
</0L> algorithm for & computer.
<H2> Pgeudo codes </H2> example
psaudo code is a high-level description of an o BEGIN
< (D) >algorithm for a computer, O INPUT %, ¥
<H3> example </H3> 3 &"};Jf,ﬁm
<(@) TYPE=CIRCLE> e
<LI> BEGIN
<UL TYPE=CIRCLE> Flow SRt 1 hn!
<Li» INPUT x, ¥

©

<lb>sumsx+y
<Lf> OUTPUT sum
</UL>
<Li> END

</@)
<HZ> Flow charting is Funi</H2>
< (B) SRC="smiley1.jpg">

</BODY>
<HTML>

1U




A - Home Page gcsge

B - Hyper Links Qe s3I

C - Template 2028

D - Website e gt)dus

E - Authoring Tools e @ e®LED
F - Web Browser o0d a88:nd

G - Markup Tags coele qga®

[1 correct => 1 mark, 2 correct=>2 marks , 3 correct =>3 marks, 4-5 correct => 4 marks,
6-7correct =>5 marks]

(W 1=H1,2 =BR,3=B ,4=UL ,5=IMG
*Tamil version 1 mark awarded for 3

[ 1 mark each = 5 marks]

[Total 10 marks]

11



(Q5)

5. (i) Write' down the maii difterénce between a complien interpreier.

drinking fruit juice stored in a refrigerator.
Write down the correct symbols for them.
rect symbols against them.

(ii) Consider the following flowchart that shows the algor
Six symbols ﬂabcﬂed@-@) are missing in the fl¢
You are only required to write the labels and draw

Go to the kitchen

!

Open refrigerator

No 1 Is there |
i 13 M HF}T_—-_“—._E P
@.—), other fruit 1 Yes -

i Juice?

| iy .
P
]

Do you
Cloge the "“‘“ISP_: want it? :1'—@ ; !

fridge ‘ i
R Wash and storg 1 End
1 glass to dry | iq_=®
‘I.Y“ i : e f
E |
® ,‘, Take out .
E—>  End | juice bottle Drink juice
: ; ) —F
R Close the .
Gl ' fridge
| i
A uicE it Put the bottle
in fridge

(iii) Draw the relevant flowchart segment to représent the following:

Input temperature
if temperature > 32 °C

Output ‘Hot’
else
if temperature > 20 °C
Output ‘Average’
else
Output “‘Cold’
endif
endif

12
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!

Complier translates the highlevel language statements into machine code by taking the entire
program as input while interpreter does the same by taking one statement at a time/both

compiler and interpreter convert high level language into machine language, but they differ in
the way they carry out their task{compiler convert the whole program in machine code and
keep for execution while interpreter only translate one instruction at a time and execute it). The
compiler scans the entire program first and then translates it into machine code which will be
executed by the computer processor.

e@oems, O 8320003® OmDS ewm, ©8 DuntS wily ©1Ed «8dbamue mIB. dewst
gl Smpimae Gagmicned 98 O DosiBe O0md S B3 evm deed HIS.

[3 marks for the difference. No partial marks. The underlined difference has to be included in
' answer for the marks to be awarded, 3 marks]

AEF

Oval symbol is also accepts as START/END symbol

[¥2 marks for each correct symbol = %x6= 3 marks]

13



=

7w L N
@. S J R ' {’
owspw

@,*"—Q LR 4 %\Ll:"-‘:\ 3_)“\&4\ g ‘::,e_.__-.‘::;e’; @W_:)ﬁ) S Rl

linput = 1 mark,
1% decision box with both correct labels =1 mark,
2™ decision box with both correct labels if 1% decision correct = 1 mark,

Overall correctness (with single final output line)=1 mark

Total 4 marks]

[Total 10 marks]

14



Q6

6. (i) The following diagram shows the correct posture that can be adopted to avoid Repetitive Stress Injury
(RSI) when using computers. Some of the aspects that need to be taken into consideration are noted and
others have been lubelled as(® (D .

Head crect,

Location of
additional notecs
viewed convenicntly

xplain what precautions should be taken in relstion to aspects Iabelled from - @D.

(iiy Brefly expiain how information and communication technology is used in the following areas. Your answer
should include onc example for each.
{a) Tele medicine
(b) Covernment to citizen services
{iii) Assume that a pew computer laboratory with intermet connection has been provided to a school. Provide
one sugestion that yon would propose for each of the following to look after the Iaboratory.
(a) Improving physical security '
(&) Protection against malicious code
(c) Improving logical sccurity

(i)
P-eyes looking straight/keeping monitor at an appropriate distance

—

- B = o
DEMCDLNDY LK) WToNE

Bgoet guiidnus ofin aums 0oy 508 / 80emisie tikd oay o5e.
R- Chair with correct/appropriate height

. )
0T e e gegenss ol 8.

S-toot stool tor correct positing ot feet

@6 HOOED 2 OO e LI gIdmos Bnn
T- Monitor at eye level s

Bow eed O008s] / ¢1ed 90080 e wnBsl ndh eRe.

|1 correct =>1 mark, 2 correct => 1 % marks, 3 correct =>2 marks, 4 correct=> 2.5 marks, 5 correct
' => 3 marks]

15



(if)

(a) Telemedicine- is the use of telecommunication and information technologies in order to

provide clinical health care at a distance by a medical professional fusing internet and
observing patients and record keeping at distant places/ telemedicine is the use of
medical information exchanged from one site to another via electronic communications
to improve a patient's clinical health status. Telemedicine includes a variety of
applications and services using two-way video, email, smart phones, wireless tools and
other forms of telecommunications technology./ refers to the use of communications
and information technologies for the delivery of clinical care (note : nen-medical person

browsing web or a patient channeling a doctor using web is not telemedicine. )

L)
&
{

= 3008 ervas dofdes edDy EMEE g emaan erddn Hanlfmidnt
<

88 oo » e5ifedem mmssern 0o S8, guinbdice mbnewrst (00D

ediB>3 SNoweeics w1 DWme @B RO /ediBmed eneBn ewvds node £18¢ne

C B8O mem 63 Hdmen 80 »08 Hhmand gecseldifiE ®ds ©wdv eedes

s

emIcRc; ¥OSS; ®F @B, BBewl, Jedc, gw (Cwlm dws Bo oBOE® o
edms smdess eriBede nrees ewWwoRn CRY 0ctd® w1 otitdxsl
6080 eO8 b 6. / visSn etddsd e wrwr emdnd; ¥ BRBedim
DS EHE HIDDG. (0D | w@s Ylocows 8 885 emdpdt GE MBE e
eatinddienny »8 JO0 e R ©15® 606 e¢m® oce ﬁ@mz@ e5ncEaE.)

[1 mark for explanation and 1 mark for example =>2 Marks]

Government to Citizen Services- Use of internet to provide government services 1o

/' consists of the digital interactions between 2 government and citizens (G2C),

ritiTanc
Lauiadiay

Obtaining revenue license for vehicles using srilanka.lk/providing information on

from government weh sites/ obtaining exam results from Dept examinations/ Buying
train tickets from Railway Department.

808w Cdewsl wown @t Eimithew ©dwr R O1B®. (§ dKrdses, emmbidhe
Gebes, epofBm Caedne, Obom Gidsw ed dRHID Trsse dnewsl »EsIeds) Juw
e o Basl gvd 2u8n autel e®asidmdwes (GTOC) evid) 28 eio.

Srilanka . Ik e®8@ @88« 08mee® Diwm @ies® e g CRY 9. Cs et
BEACO emdndy can 8. (gov.lk, 1919) , 0wesd ene cav 9. gue® oy dneda,
¢®8a, gedbs oy 008 Bd OBRe. , Bnw gl Bviw g ecolined®sineds’
&®.)

1 mark for explanation and 1 mark for example =>2 Marks]

Q*b%t\\‘mj e e
16



{iii)
{a) Securing access to lab using secure locks. doors and windows/security person/UPS/

CCTV/ lightening arrester/voltage stabilizer,/protection from environmental factors such as rain,
humidity, dust etc | & € | Seasced Bredadag

Bepomded eq0 Semdded aoEBn agg e admed s BB,
/! Yowoievn ew®/ UPS/CCTV/aney wolonem/ e8icSom €inocm, Eredes, gaemtes
(O B S avesg OB endmsr G GYES IO NI LS med b v Snst

{b) Installing a virus guard /anti adware/popup biockers/anti spyware(key stroke loggers), and
keeping the malware definition file updated/ keeping operating system updates uptodate,
installing a firewall

o8 ©0dde @imie Edeme / emdos ¢oI8® dewom / Popup oemom/ o8 lo o)
NEe® ®amrow (Key Stroke loggers) e» aS€o Bagmew Sedmd eoind wOslmBs 88,
00euy® od0Bu WOFMEHD A O1Re, & ogd efema B8E.

(c) using passwords, keeping backups
g0 w¢ ©8me, backup ma@n oBe.

[1 mark each. = 3 marks]

[Total 10 marks]
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Q7

7. (1) Nazeer was asked by his teacher to develop a computer based library information system for his schooll

He listed down the following activities labelled from P - U, in order to develop the library information
system:
P - Identify the objectives and requirements of the system
Q - Check the feasibility of developing a new library information system
R - Study the current manual system using different data collection techniques
S - Design a better system for the library to manage its activities
T - Write the computer program using a selected programming language
U - Test the program for errors and deploy (implement) the new library information system
(2) Write two types of feasibilities Nazeer should consider about the proposed library system.
(b) Name the stage of the System Development Life Cycle (SDLC) indicated by activity with label R,
(c) Write twe data collection techniques that Nazeer could use to carry out the activity with label R.
{(d) Name the stage of the System Development Life Cycle indicated by activity with label T.
(e) Write an activity Nazeer could do afier completing the stage labelled as U.

(if) Traditionally organizations have nsed printed documents and telephones as media of communication.

Presently, many organizations use email and other internet based services for communication,
(a) Write down two advantages of using email,
(b) Write down two disadvantages of using email.

(c) Write down two intemet based methods other than email that organizations could use for
* communication.

Operational feasibility/ economic feasibility/ technical feasibility [ +esa) o
ePenE® amvm® / 2kiln apvmd/ MEFEBD EEBIND [ 13 O 25ed YA
™Mo | Ve iuly Pesed S;,."\@‘k_j .

[1/2 mark each — 1 marks]
Systems analysis/analysis
=08 Bdecdeemc / BdecCreiw

[ 1 mark]

Interviewing/ observation/ document observation/ guestionnaires,
e08m wdd / BiFuemew / B8 eviy olm® / gEmdE

[1/2 marks each — 1 mark]

coding/ programming/software implementation/software development
emmwiene / DOeEA BB / @agmr® B.dbAHS S Gkt \

N =
VA OF BebEIND

[ 1 mark]
maintaining the system by fixing bugs, making modification to the systems etc
8408 20FRD ( e¢te Bomdeia, 8ddBEd 063 edNHEHd S68)
QB_SLQ—W\ AR A.ﬂ..\'\"\—ﬂj - M ‘3\\ S-SR ~ i é\" e 1 mark]

~C

e
Sy S¥en u?ﬁ-rqck \\.3 " -hq\\qQ (:-J-;‘ EY
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(a) faster/can have attachments such as videos, images etc/ cheaper or free/ could
send multiple copies/protection from physical damage such as water/24x7 or any
time/ location independence or can send and receive from any place/system
notification if undelivered

eDods / Ay @ #18a® 880 B8O / Ewed ovd emBel /
800 S8owes voeeds D80 v 88 / e»9Bn gicwmsd (Scewnss |
Blexisl 018) / 24 x 7 ol D@ eDcm / W® w® & 0Bmn e
B B / ci@e ¢ »1de v DO ¢ B S B8.

[1 each, 2 marks]
{b) virus can spread with email/internet connection required for recipient and
sender/issues relating to (privacy, confidentiality, security) or mail account may
be hacked/internet connectivity cost/language aagd/computer literacy
barrier/possibility of sending to a wrong recipi?e’ﬁ?e%?i!y ISP - R L
pnei\
eeddel o808 / il ¥ CATTHO grinbdc e®asidn B3@O
goad8/ erudoBmside, Cwes 910w © @dmbd e ACH® e®]
esl qul Bégs moid BP0 amdadewst gede B8O /axindde
@RV @ B0 e Bwe®d @B WSO/ B ¥ LBoe (H®
adas 8® / 808 yéocernd (0 e} 18w 918 88. Frrendn g
[1 each, 2 marks]
(c) chatting/ teleconferencing/ videoconferencing/ internet based
messaging/internet telephony/social media or social
network/newsgroups/forums/blogs/website/ftp

By i /gdedn D¢ /BBiewnd wadig/aximtidhBe B8R HP®IG/
@EIUBE (CDDDE /€388 10D e S LR /PO RS /e3oDie Bofdes
/Recrdts / 00d add /evim HO&ICT Be@OE

[ % each —1 mark]

[two examples should not have overlapping
meaning. If the same meaning is provided
marks awarded for only one example]

[ Total 10 marks]

EE R R EEEEEEEEE ELE]
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